BEARFLABRAZEYvH—ER

A X BB &

SBEREER

IEES

EH tHhig =E Bt
20224 B 1 EIBARKEY v H—1)—4 Norte 28 %128
H B 202249 A3H(x) 1500 | #H&AR | 905 | 284 | UEHUNRZEMISIUR
x 1% B | KB {254 CIBE! 719 %] A | #E |corkR! XRT LSEEZ[HEH 15 A
2ISEEE B #iE HIERE Nk £ FIDBEHE BiE BN
x & =iE Hih gl E 2 =0 I SLERE AITEF 48
B/E/E 0 — 0 BH/A/A
RPKF 0 — 2 XEXF
5 — 5 Wm 0 B 2 s 16 — 19 KICK OFF
xR a—hk & . B 4 | B . 5 va—hk xR
%5 5 | @x | g [als| 7% |l=l&lg| BF® |almlaea:] » [+
0 SR EKR 12|GKlck| 21| mMA i\ 0
1 1 h#f E¥E ce|30(DF|DF| 3 | B —4% 2 2 79%
1 1 AH Bt 4 [DF|DF] 6 | KEEH&E OC= 0
1 1 $#HAK KEE 10| DF| DF| 19| &I BBF 1 1
0 E+iE B 3 |DF|DF] 32| mkE &3 1 1
684y 0 @ BEX 13|MF|MF| 8 A0 % 2 1 1
0 NI BEE 16 |MFIMF| 31| @A &3 1 1 635
0 NI RS 17|MFIMF] 11| E% #X 1 1 HT
3% 0 HE BE 22 [FWIMF] 14 F 8 0
79% 1 1 2 5t FE 7 |[FW|MF] 10| BEO #i%E 1| 4 3 1 90+2%>
625 1 1 ik FE 11 |FWIFW] 13| K& KB 2 2 575>
AHE K& 1 |GKlGK| 12| #\3EHE 12
N HRE 19| DF| DF| 35| &:Z 2%
S 5hF 38 |DF| DF| 38| B& =& 0 3
22 0 AK FEth 2 |MF|MF] 16| &&=/
13 0 TE IERI 15|MF|MF| 17| EiG Et 1 1 31
At (5t E 36 [MFIMF] 18| FH FE 1 3 3 11
11 1 1 AB RS 8 |[FW|MF] 23| #EE RS 0 10
HH RiK 28 |FWIMF] 34| =8 2K
7 0 /M1 SERER 45|FWIFW] 9 | =%t E3l 0 13
z2&£-8 5 BB BB s2&£-8 5
BffE | B/ K % = R R Bt BffE | B/ K %
% | s F—L&E FIESERE£2
5 2 7 a—k| 18 9 9
4 11 15 G K 4 3 1
2 0 2 C K 10 7 3
3 2 5 BEEFK 5 2 3
0 0 0 RITEFK 1 1 0
0 0 0 |&FZH4D)| 1 1 0
0 0 0 P K 0 0 0

GED) A9 A FROBFIE. MED)—FvI8D55 A THARIZED1DERLTNS,

[RIFEA] SUELFERTL A, S2EFHITH. S3DIEE | S4FAERMEILEF) ., s:ERAERMEIE () . S6:55

.....

JCS:E&2ME

B F— L BaE TIRAR BEZE (~ FUTI = T TIURNRR 1T BEHRR S va— b AT UY)

817 | X#HKF|18: HH TE A-11 14 | — [MAFFPIIEhzk 18 [ERS

885 | X#HZARF|10] BOWMZE [9i =&} |[H-1] 18 1 — 9 - itik-1i 10 i2v7uTiHES
AR FIES 46:05 (01:05) ‘¥ 48:39 (03:39) SEPTERE 1:34:44

[i&=]



